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Surface area and volume 
1. The S.A. of a cuboid is 1372 sq cm. If its dimensions are in the ratio 4:2:1, find them. (28 cm,14cm,7cm)
2. The length, breadth and height of a rectangular prayer hall are 20 m, 15 m and 8 m resp. Find the cost of painting its walls at Rs 10 per sq m. (Rs 5600)
3. The diameter of a circular well is 4.5 m and its depth is 14 m. Find the cost of cementing the inner surface of the well at Rs 1.20 per sq m. (Rs. 237.60)
4. Find the S.A. of a sphere whose radius is 14 cm. (616 sq. cm)
5. A conical tent is 10m high and the radius of its base is 24 m. Find its slant height. Also find the cost of canvas used in making the tent at Rs 70 per sq m. (26 m, Rs 137280)
6. Find the area of the metal sheet required to make a closed hollow cone of height 24 cm and base radius 7 cm. (704 sq cm)
7. Find the T.S.A of a cone, if its slant height is 21 m and diameter of base is 24 m. (1244.57 sq. m)
8. A hemispherical bowl is made of steel 0.25 cm thick. The inner radius of the bowl is 5 cm. Find the outer C.S.A of the bowl.(173.25 sq. cm)
9. Find the L.S.A of a right circular cone whose height is 28 cm and radius of the base is 21 cm. Find also its whole surface area. (2310 sq. Cm, 3696 sq. cm)
10. The length, breadth and height of a rectangular box are 1:2:3. Find the volume of the box when its surface area is 1078 sq m. (2058 cu m)
11. A river 3 m deep and 40 m wide is flowing at the rate of 2 km per hour. How much water will fall into the sea in a minute? (4000 cu m)
12. The volume of a right circular cylinder is 1100 cu cm and the radius of its base is 5 cm. Find its C.S.A. (440 sq cm )
13. The circumference of the base of a cylindrical vessel is 132 cm and its height is 25 cm. How many litres of water can it hold? (34.65 l)
14. The radius and height of a right circular cone are in the ratio 5:12. If its volume is 314 cu cm, find its slant height. (13 cm)(use π = 3.14)
15. The volume of a right circular cone is 9856 cu cm. If radius of its base is 14 cm, find the 

(i )height of the cone  (ii) slant height of the cone (iii) C.S.A. of the cone. (48cm, 50cm, 2200sq cm )
16. The S.A. of a sphere is 5544 sq cm. Find its volume. (38808 cu cm)
17. Find the length of the longest rod that can be placed in a room 12m × 9 m× 8m. (17 m)
18. A 4 cm cube is cut into 1 cm cubes. Calculate the total surface area of small cubes. What is the ratio of s.a. of small cubes to that of the large cube? (384 sq cm, 4:1)
19. A wall of length 10 m was to be built across an open ground. The height of the wall is 4 m and thickness of the wall is 24 cm. If this wall is to be built up with bricks whose demensions are 24 cm ×12 cm × 8 cm, how many bricks would be required. (4167 bricks)
20. If the radius of the base of a right cylinder is halved, keeping the heights same, find the ratio of volume of the reduced cylinder to that of the original cylinder. (1:4)
21. A sphere and a cube have the same surface. Show that the ratio of the volume of the sphere to that of the cubes is √6 : √π.
22.  A semi circular sheet of metal of diameter 28 cm is bent into an open conical cup. Find the depth and capacity of the cup. (12.12cm, 622.26 cu cm)
23. A right triangle ABC with sides 5cm , 12 cm and 13 cm is revolved about the side 12 cm. Find the volume of the solid so obtained.(100 π)
24. A rectangular peice of paper is 22 cm long and 12 cm wide. A cylinder is formed by rolling the paper along its length. Find the volume of the cylinder. (462 cu cm)

25. A well with 10m inside diameter is dug 14m deep. Earth taken out of it is spread all round to a width of 5 m to form an embankment. Find the height of the embankment. (4.67m)
“knowledge is of no value unless you put it into practice.”


